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Solve an equation of diffusion to find the temperature’s evolution!
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T 5= 0ua Cos( 1) ;bh sr: s )
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(X Suer san OB

L
d
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1. X"6) = A XD for Ocxeh  and X03=0 XY= O  Dyichled Bowndovy Condidmn
2 Rx)y=d X(xy £ —TexeT b &Kfm=xmd  XEa) =0 Perpdic 8C
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thot sabishy: Q) Xl + q(x) XU+ A WOSX(x) =Q o acxeh
omk X sabzfes Fe,ﬁoolrc. OR any tombo of D N, R RcC
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a7 LP(O“)HO(_F(O) oz.(aW(o)Ha(P(a))
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C’/‘ﬂfw 5 Math is like a martial art, master it with efforts from the heart!
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Question . What bopndany condibous con we solve alremi\S (the SLP BL'S):
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